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OVERVIEW

The X713 mentions the various M%7 the 770 teaches us by each aR. This explains
why the individual M2aX needed to be written in the 77N, and not merely derived
through a mwa 7% from 7377 7M 2. Regarding 713, however, there was never a
question why it was written in the 7710, since M2 cannot be derived through a 7%
MW (as our 7wn states). It is therefore puzzling why the X723 tell us the reason 712
is written in the 770, is in order 2°9377 NX 12 MWOY. Our NMOOIN addresses this issue.

2N9I9NM NN XY MY NYVPI NNIIN AN
The X723 mentions 712 in a passing manner (since the X723 mentions the NM>%:7 the
77N teaches us for each 2X, it also mentions the specific M3%77 which apply to 712),
however it was not necessary to explain why the 770 mentions 712, for 212 cannot

be derived (even) from all the max together, since (as the mwn states, that) 12 is 1277 X
> T, !

SUMMARY
There is no need for the X7m3 to explain that 712 was written in the 70 for its 7097
regarding 0°9>.

THINKING IT OVER

Is it possible to answer N1©OIN question (and 72 can be derived from a Mmwn 7X), if
we assume that W5 7y2m 139P2 MW R0 (and 930 is not mentioned at all in the
mwn)?2?

" Once the X»3 mentions what particular M3%; the 7790 teaches us regarding each ax, so in order to give a complete
account, the X3 also mentions what particular 75777 the 70 teaches us regarding T13; but not that this is the reason
why 712 is written in the 770.

2 See (Pwyn Pr212 'R) 11712 DANAR on T'HN' YMNAT YuRa TR "7 2w,
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